"24NIVTFHYTETE, CaZTFMAX 2A+S

Pos. No. 4RI F—L4 BestLap In Lap 2nd Best 2nd Lap GAP =
1 4 HIFEE{Z NILTFTH—LIS5T 39.65 9 39.712 8
2 88 S5 HAH/Y NILFH—LIST 39.722 9  39.849 7 0072 0072

3 48 Z I ER S B—/\)L+ZERO 40.453 9 40.631 6 0731 0.803



"24N\)LFHVTETE Ca1FMAX FiE

Pos. No. 4%H] F—L4 Laps BestLap In Lap Total Time GAP =
1 88 S H Hh/Y NIIFH—NI5T 10  39.659 7 06:42.7
2 44 HIBE{Z N\ILFH—KOST 10 39.684 7 06:43.2 0485 0.485

3 48 Z I ER S B—/\)L+ZERO 10  40.163 3} 06:47.4 4194 4679



"24NI)VTFHYTETE, D1 TFTMAX R

Pos. No. 4%H] F—L4 Laps BestLap In Lap Total Time GAP =
1 4 HIFEE{Z NILTFTH—LIS5T 12 39.86 8  08:028
2 88 S5 HAH/Y NILFH—LIST 12 39.785 8 08031 0253 0253

3 48 Z I ER S B—/\)L+ZERO 12 40.143 12 08:08.9 2.84  6.093





